





| .Ilmage processed Clusterl Size |

°
g
z
3
8
g
£

color

red

Wi (Nw WM& IWINI=|O

P
o

AJPG
AJPG
AJPG
AJPG
AJPG
AJPG
AJPG
AJPG
AJPG
AJPG
AJPG

Ul-Al
U2-Al
U3-Al
U4-Al
Ul-A2
U2-A2
U3-A2
U4-A2
Ul-A3
U2-A3
U3-A3

9547
5545
5620
5312
5072
10041
4118
4361
4777
7187
10531

23.19895857
50.52499024
50.23032798
35.74966774
48.01897639
14.36643812
46.79006758
46.62439391

51.3006584

19.4842296
10.61116946

20.13667827
52.70208378
52.66768898
37.43292378
49.47979755
8.030703864
47.52796333
47.35590228
52.35181329
14.14730308

0

e®Wooseoe
N EEEE R
e co oo

GGG O6060606006c00 0

Good
R Y

o
L]

® © & 6600000 6BH O 0o
® 6 06 006000 0o0™Mmoocosoo
® & & 0 6 06000 oo

oW POOo@e e oo
'® 6 06 e 000000 BooN

eMMecoeoeceodBeonmone
e e oPoeB@o@®oenmsathe
OB oo oeBeooso®® oo o

® ® o0 000 oo o
® © 0O B oo oo oMo O

o oMo Oeoeehosceoo

oo ® o000 060oDVeosasaaso
® & 6 0000000 W o0 N
© 000 6 0@0 0000 0B o
e O OB e
T E RN I A W I W
oG oeoeaoe®Mecosovosod
@000 00060006c000000




ISy QUi, dm, xlrd, SKlearn
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1\\; HOW THE SIZE IS FOUND

O

® The size is found using a connected components algorithm available in the

open computer vision library

® Algorithm gives the size of each cell and the location of each cell
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# split the image into its respective RGB components

(B, 6, R) = cv2.split(image.astype("float")) # CV2 works in BGR not RGB
# compute rg = R - 6

rg = np.absolute(R - 6)

# compute yb = 8.5 *x (R + 6) - B

yb = np.absolute(8.5 * (R + 6) - B)

# compute the mean and standard deviation of both 'rg’ and ‘yb’

" (rbMean, rbStd) = (np.mean(rg), np.std(rg))
| (ybMean, ybStd) = (np.mean(yb), np.std(yb))

# combine the mean and standard deviations
stdRoot = np.sqrt((rbStd ** 2) + (ybStd *x 2))
meanRoot = np.sqrt((rbMean ** 2) + (ybMean **x 2))
# derive the "colorfulness" metric and return it
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1\\; WHAT HAPPENS TO THE DATA?

®* The data is sent to a pandas data frame

® Can be exported into xlsx or csv format
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Image processed | Cluster |Q1 size |Q2 size |Q3 size |Q4_size | Avg size |

4124
3237.75
4111.75
3093.25

3527
3359.25
3338
3262
1825



®* More advar

Confusion Matrix for 1r |
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accuracy for 1r
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" Confusion ﬁéfrix for svc Confusion Matrix for mlp

[[ 15 @] ([ 15 @]

[ 4 135]] [ 4 135]]
accuracy for svc accuracy for mlp
0.974025974025974 0.974825974825974



